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QUESTION 1

Given the raw data record DEPT: 

----|----10---|----20---|----30 

Printing 750 

The following SAS program is submitted: 

data bonus; 

infile `dept\\'; 

inputdept$ 1-11 number 13- 15; 

 

run; 

Which SAS statement completes the program and results in a value of `Printing750\\' for the DEPARTMENT 

variable? 

A. department = dept II number; 

B. department = left(dept) II number; 

C. department = trim(dept) number; 

D. department=trim(dept)||put(number,3.); 

Correct Answer: D 

 

 

QUESTION 2

Given the SAS data set WORK.PRODUCTS: 
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How many observations does the WORK.OUTDOOR data set contain? 

A. 1 

B. 2 

C. 3 

D. 6 

Correct Answer: B 

 

QUESTION 3

Given the SAS data set PRICES: 

PRICES Prodid price producttype sales returns K125 5.10 NETWORK 15 2 B132S 2.34 HARDWARE 300 10 R18KY2
1.29 SOFTWARE 25 5 3KL8BY 6.37 HARDWARE 125 15 DY65DW 5.60 HARDWARE 45 5 DGTY23 4.55
HARDWARE 67 2 The following SAS program is submitted: data hware inter cheap; set prices(keep = productype
price); if producttype = `HARDWARE\\' then output hware; else if producttype = `NETWORK\\' then output inter; if price
le 5.00; run; if producttype = `HARDWARE\\' then output hware; else if producttype = `NETWORK\\' then output inter; if
price le 5.00; run; 

How many observations does the HWARE data set contain? 

A. 0 

B. 2 

C. 3 

D. 4 
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Correct Answer: D 

 

QUESTION 4

Which of the following choices is an unacceptable ODS destination for producing output that can be viewed in Microsoft
Excel? 

A. MSOFFICE2K 

B. EXCELXP 

C. CSVALL 

D. WINXP 

Correct Answer: D 

 

QUESTION 5

Consider the following data step: 

In filtering the values of the variable X in data set WORK.OLD, what value new value would be assigned to X if its
original value was a missing value? 

A. X would get a value of 1. 

B. X would get a value of 3. 

C. X would retain its original value of missing. 

D. This step does not run because of syntax errors. 

Correct Answer: A 
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